Math 1149, Quiz #6, Fall 2013 Name '<EY

Instructions: Show all work. Use exact answers unless specifically asked to round.

1. For the following functions, find the domain and range of the graph. Then find the inverse, and
state its domain and range.
a. f(x)=2tan(x)—-3
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2. Simplify each of the following. Give exact answers,
a. tan™3 173 2 \ﬁ

b, sin™? (sin(ui—”)) it —-%E
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c. cos™t (cos (10_11)) K?I[’
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3. Use your calculator to approximate the value of the following to the nearest 2 decimal places.
Be sure your calculator is in radian mode.

a. arccos(—0.4) ~ ?8

b. arccot(68) = Ama C %g) x , of



